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˜!Çþ” ²Ìyhsýßi ¤‚‡Äy=!¡ þ›)”Åôyl !löì˜Å¢†þÐ 
þ›îû#ÇþyíÅ#öì˜îû ëíy¤½þî !löì?îû èþy£ìyëû ’þz_îû !˜öì•þ ¥öìîÐ 

 1. Answer any five of the following questions: 2×5=10 
  öë ö†þyöìly þ›„y‹þ!Øþ  ²ÌöìÙÀîû ’þz_îû ˜yG /  

  (a) How is India religiously diversified? 
    èþyîû•þ †þ#èþyöìî ™ô#Åëû èþyöìî !î!èþ§¬Ú 

  (b) State two indicators of jati mobility. 

    ?y!•þ ¤‹þ¡•þyîû ˜%!Øþ !löì˜Å¢†þ ’þzöìÍÔ‡ †þöìîûyÐ 

  (c) Write any two advantages of nuclear family. 

    ~†þ†þ þ›!îûîyöìîûîû öë ö†þyöìly ˜%!Øþ ¤%!î™y ö¡öì‡yÐ 

  (d) What do you mean by ‘Chaturashrama’? 

    ‘‹þ•%þîûy×ô’ î¡öì•þ †þ# öîyöìVþyÚ 

  (e) What is jajmani relation? 

    ë?ôy!l ¤Á›†Åþ †þ#Ú 

   (f) How many languages are recognised by the Indian Constitution? 

    éèþyîû•þ#ëû ¤‚!î™yöìl †þ•þ=!¡ èþy£ìyöì†þ ßº#†,þ!•þ ö˜Gëûy ¥öìëûöìSéÚ 

  (g) Define Dominant Caste. 

    xy!™þ›•þÄ¢#¡ ?y•þöì†þ ¤‚Kþy!ëû•þ †þöìîûyÐ 

 2. Answer any four of the following questions: 5×4=20 
  öë ö†þyöìly þþ‹þyîû!Øþ  ²ÌöìÙÀîû ’þz_îû ˜yG /  

  (a) Write a short note on traditional and modern value of India. 

    èþyîûöì•þîû ú!•þ¥Äîy¥# G xy™%!l†þ ô)¡Äöìîyöì™îû ’þzþ›îû Øþ#†þy ö¡öì‡yÐ 

  (b) Write a short note on various disadvantages of joint family in India. 

    èþyîûöì•þîû öëïí þ›!îûîyîû=!¡îû !î!èþ§¬ x¤%!î™yîû ’þzþ›îû Øþ#†þy ö¡öì‡yÐ 
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  (c) Write a short note on Kinship System of Indian society. 

    èþyîû•þ#ëû ¤ôyöì? xyd#ëû îÄîßiyîû ’þzþ›îû Øþ#†þy ö¡öì‡yÐ 

  (d) Discuss the main characteristics of tribe in India. 

    èþyîûöì•þ ’þzþ›?y!•þöì˜îû ²Ì™yl ÷î!¢ÜTÄ=!¡ xyöì¡y‹þly †þöìîûyÐ 

  (e) Write a short note on ‘backward classes’ of India. 

    èþyîûöì•þîû xl@ýÌ¤îû ?yöì•þîû ’þzþ›îû ¤‚!Çþ® Øþ#†þy ö¡öì‡yÐ 

   (f) Discuss why India is called as a plural society. 

    èþyîû•þöì†þ ö†þl îàcîy˜# ¤ôy? î¡y ¥ëû xyöì¡y‹þly †þöìîûyÐ 

 3. Answer any one of the following questions: 10×1=10 
  öë ö†þyöìly þþ~†þ!Øþ  ²ÌöìÙÀîû ’þz_îû ˜yG /   

  (a) Examine changes in structure and functions of family in India. 

    èþyîûöì•þ þ›!îûîyöìîûîû †þy‘þyöìôy G †þyëÅyî!¡öì•þ þ›!îûî•Åþl xyöì¡y‹þly †þöìîûyÐ 

  (b) How does the concept of dominant caste help in explaining caste system in modern Indian 
society? 

    xy™%!l†þ èþyîû•þ#ëû ¤ôyöì?îû ?y•þ îÄîßiyöì†þ îÄy‡Äy †þîûöì•þ xy!™þ›•þÄ¢#¡ ?yöì•þîû ™yîû”y!Øþ †þ#èþyöìî ¤¥yëû•þy 
†þöìîûöìSéÚ 

__________ 


